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From Eq. (6.180) show that

E. (elrl) = J.

(J.O:OJ: D,, (K)dszK‘3)eiK1r1dK‘l (1)

and from Eq. (6.208) show that

R, (&)= J.Z% E,, ()€™ dx; (2)
Hence verify Eq. (6.210).
Solution
Let
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Then Eq. (6.180) turns into
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From Eq. (6.208)

R, (er)= J:m E,, (x,)cos(x;-1,)dx,
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where the term marked with * is zero due to the fact that E22(x) is even and sin() is odd.

Note that Eq. (4) equals Eq. (5)
I (J. CD22 dszK) e"idx, = J. E,, ()€™ dxg (6)
This leads to

E,, ()€™ = 2 OOQDZZ (x)dx,dx;, (7)



